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Exam:  Angle Relationships 1
Answer ALL questions on looseleaf. SHOW ALL WORK!!
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I.  Match the definition with the corresponding word from the bank.

1) This is the name given to lines that cross each other.

2) Angles whose sum is 180º.

3) Angles that are directly next to each other.


4) Angles whose sum is 90º.
5) Lines that never touch each other are called this
6)   “ 3x +  5”  is an example of a ______.

7)  “ 3x  +  5 =  20”  is an example of a _____.
8)  Angles opposite another that have the same measure.

9)  This means “the same” or equal.
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Name the relationship between the angles in the diagram:
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10)




11) 




12)  
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Find the missing angle measures:
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13) 


    14)  

     15) 


16) m < b =










17) m<d = 
[image: image9.png]b

b



Base your answers to questions 18 – 22 on the following diagram:







18. If m< GMN = 28°, what is m< GMF ?






19. If m< GMR = 120°, what is m< RMP?







20. If m< HMP = 42°, what is m< GMN ?







21. If m < RMP = 35°, what is m< PMF ?







22. If m< GMF = 80°, what is m< RMP ?
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Do each of the following questions. Find the measure of both angles b and d:
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23.    m<b = 6x





24.     m<b = 5x 

         m<d = 2x + 60





          m<d = 3x + 20
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25.    m <b = x + 10





26.  m<a = 25 


         m<d = 4x + 20 




      m<b = x + 10








      m<d = 2x + 15


• intersecting	    •  parallel		


• adjacent	    •  algebraic equation	


• perpendicular	    •  transversal


• supplementary	    •  complementary


• algebraic 	    •  vertical


   expression	    • congruent





Extra Credit:			A.  Graph the line  y  =  5x  - 5  on graph paper


	


				B.  Simplify:   3m – 2m² + 8 +   3(m  +  1)  +  3m²








